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BRATE  HEAH EERZH BREH
pryrr—n fmER - fEER BER
e b 2k 5 . Eih HEE aiE BE |En]  (HE Eth HEE pi:br ] HE |uw|l  EE
BREOR (B2 L& BEdk  [®ANR I Elf LEE st 300| @
Eih HEE A HE By BEE |R& 15 YU4h5t 100| {& BiR w4 A Ah5 250 {&
R fRfEs ¥E'a'3k 200| 1& iR YU4h, 7V°45 150| 1@ AF EVES L) &
XH %] @ T Y1) 4hst 150| & 8t 1,650 {A
2 vy KP4k | IMER EFA. 1434} 150| &
RehF {74k & A 500| & = 3w
all z= D) KB4k 500| {8 (JERR] IMY4h5t 100| & #iE—
INRTY @ X5 KiR BAhot 100| 1@
=N AEA $N'5~8A & iR 100| 1@ Eth HEE i HE |me] g=
Eig WY th7y 15k44 & P& INIE, FREALA 100| & REA S A5 =9 5,900| &
H 700 {& HEX &XH ARE4 150| {& ERBS [Tinst -7 V% 1,000| &
4R Y45t 50| {& ENTT 300| &
EEE_M = KEZE Ahyt 150| & Ras5 EARS [#BEI52 100( &
BiE—E ERS e p=:1 )N 100| {& REAR S ER5 BTy 390| #%
BE 50| & BEN REWS [EnvT 500 kg
Eih HEE aiE BE el #E |Ea BER 4ot 100| 1@ Big5 W35 BARE 120| &
EES BHE HL 1,000| kg ] THERDYY [FREDLIH 50| 1@ 5§ 500 kg
7IE 200| ke £ 650 kg 1,520 &
R EH5 3 200 ke 4,750 {& 6,290 #&
st nE5 HIt 100| ke 700 &
REX S =HN 74 150| 1& &% 5600 kg
BESN WES B# 50| ke = 7,250 {8
th &4} T1-RAVE - (&= 1,500| 4% 2,220 &
EE 5 B5E 1,500 #& Eih HErE ki 2 e {FEE 9,290 #
§ 1,550 kg KI5 = Ea5 200| ke
150 {& K I B A5 400( kg
3,000 # Fa 5 FEETA AV8 45 200| ke
SIERER  |FEETAN 50| kg
EEE=M B B 100| kg
TP | R H¥ BEIA, 445 800 ke
LRR- AR =)= 4 EAR XS 200| kg
Eih HEE aiE BE el #HE |XKH B 100| ke
i ExE VTV $35 100| 1@ =% BES E375° 5 50| ke
EASESN (KLY E5T5 100| {& 12 % FEETA V5755 600 ke
IETEER ¥, ATV H 100| 1@ Fed o] EV575°5 100| kg
R ALY 300| 1@ HE K ETHT 100| kg
7K I 100| & i 2,900 kg
B VTV 5 150| &
e K%, voast 100| & s
BE 3. 7545+ 150| 1@ R
F5 5 7, 9745+ 250| {& Eih HEE iz HE |wa]  (HE
SIERERS 75 1345 100| 1@ 2R fig st BMh, #7745 100| {8
IMER 14454 200| 1& HE B4h4t 100| &
m5 200| kg b= 50| {8
b 1R3Y), Lyast 900| {8 X (207 100| 1@
X5 ik &7 700| & =E5 #1955} &
EEES ([ KDAES 100| & §EI 744t 250| &
M Wwadh)) @ b 1A 100| &
ES &4 100| kg =5 FEF 7’5 200| &
A &N 300 ke bl 40 100| {&
Eig hiE AT 50| kg BHE 100| &
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